Manuals+ — User Manuals Simplified.

MULTIBRACKETS

M Pro Series
Single Pole
Floorbase

MULTIBRACKETS M Pro Series Single Pole Floorbase
Installation Guide

Home » MULTIBRACKETS » MULTIBRACKETS M Pro Series Single Pole Floorbase Installation Guide ™=

Contents
1 MULTIBRACKETS M Pro Series Single Pole
Floorbase
2 Product Specifications
3 Product Usage Instructions
4 PARTS
5 Product dimensions
6 Installation
7 WARRANTY CARD
8 Frequently Asked Questions
9 Documents / Resources
9.1 References

MULTIBRACKETS

MULTIBRACKETS M Pro Series Single Pole Floorbase


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/multibrackets
https://manuals.plus/multibrackets/m-pro-series-single-pole-floorbase-manual.pdf
https://manuals.plus/#multibrackets_m_pro_series_single_pole_floorbase
https://manuals.plus/#product_specifications
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#parts
https://manuals.plus/#product_dimensions
https://manuals.plus/#installation
https://manuals.plus/#warranty_card
https://manuals.plus/#frequently_asked_questions
https://manuals.plus/#documents_resources
https://manuals.plus/#references

Product Specifications

« Product Name: M Pro Series Single Pole Floorbase B2B

« EAN: 7350105213069
« Product Dimensions:

o

o

o

Base Plate: 100mm

Tilt Arm: 5.2mm

Screw M6*12mm: 75mm
Screw M6*15mm: 100mm

Coach Screw: 1030mm

Plastic Anchor: 38mm
Rubber Pad: 300mm

Product Usage Instructions

Component Checklist

Item

Name

QTY

AA

The Pipe Assy

Installation Steps

1. Place the Base Plate (BB) on the floor.
2. Secure the Pipe Assy (AA) to the Base Plate using the provided screws.

Optional Operation

1. For brick or concrete installation, follow steps 2-a or 2-b.




Optional Part (EAN7350105210488)

1. Include the optional part in the assembly if needed.

WARNING!
Always check the depth of the holes before starting an installation.

DISFLAY

“-..‘0

Multibrackets Online Users Manual
1. The content of this manual is subject to change without further notice.

2. The latest version of this manual can be found online under the product name on the website:

www.multibrackets.com

CAUTION
Two persons recommended installing this product.

PARTS

Component checklist


http://www.multibrackets.com

Item Name QTyY
AA The Pipe Assy 1
BB Base plate 1
CC Tilt arm 2
D M4*10mm Screw 8
E M6*12mm Screw 4
F M6*15mm Screw 8
G ¢13x@6.2x1.5 Washer 8
H Coach Screw 6x50 4
I Plastic Anchor 4
J Rubber Pad 4
K 5mm Allen Key 1

et

|

8>

AA

Product dimensions




360°

100mm
e ;Smm ‘_\

0°~45°
N
~_ o

o “_'450

P38mm

1030mm

Installation



e-a Brick or concrete ™
L

&
{Optional Operation)

NI :

-
~"(black) H

e-b Brick or concrete X
LQ'\
.

e Optional part (EAN: 7350105210488)
i o P Sy

el

_Mire

WARRANTY CARD

MULTIBRACKETS™ Limited Warranty

Multibrackets warrant its products to be free of defects Period. The Warranty Period commences on the original
purchase date of the product.

All Multibrackets products are covered by a limited product warranty:

« Five (5) years for metal video monitor mounts; all racks and non-electrical rack accessories.

« Two (2) years for gas lifts and sit-stand workstations.

« One (1) year for all motorized and/or automated products, plastic speaker mounts; all speaker stands; all
furniture; and all wood (MDF) accessories.

« For warranty claims made during the Warranty Period,

« MULTIBRACKETS'M will replace any defective product part free of charge. Should a part of your Multibrackets

product fail? Please create an RMA case on www.multibrackets.com/support to make a warranty claim.
« We will await your documentation and then discuss the problem with you and once we confirm the product
is under warranty, we will ship replacement parts to you.

« This Limited Warranty does not cover the costs of removing and replacing defective parts from your


http://www.multibrackets.com/supportto

Multibrackets product. So. if your problem requires a repair technician, you must pay any labor charges.

« This Limited Warranty extends only to the original purchaser of the product and is automatically void if your
Multibrackets product is modified in any way. Improperly installed. Taxed beyond its stated weight capacity or
otherwise misused or abused.

« All Multibrackets products are intended for indoor use only and any outdoor use voids this Limited Warranty.
The Limited Warranty for wall and ceiling mounts is void if the mount is moved from its initial installation. To
the maximum extent permitted by applicable law.

« Multibrackets disclaim any other warranties, express or implied, including warranties of fithess for a
particular purpose and warranties of merchantability. Multibrackets will not be liable for any damages
whatsoever arising out of the use or inability to use its products, even if Multibrackets has been advised of
the possibility of such damages. To the maximum extent permitted by applicable law.

« Multibrackets disclaim any responsibility for incidental or consequential damages.Multibrackets’M
Stockholm, Sweden 2024

www.multibrackets.com

Frequently Asked Questions

Q: Can | use this product outdoors?
A: This product is suitable for outdoor use in brick or concrete installations.

Documents / Resources

Installation
manual

T MULTIBRACKETS M Pro Series Single Pole Floorbase [pdf] Installation Guide
: 3069, M Pro Series Single Pole Floorbase, M Pro Series, Single Pole Floorbase, Pole Floorbas

e, Floorbase

References

+ User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


http://www.multibrackets.com/
https://manuals.plus/m/6de4494f512854583717e28dd2e24ffe80f6cb5f0e70d9206d5a9c4a07054459
https://manuals.plus/m/6de4494f512854583717e28dd2e24ffe80f6cb5f0e70d9206d5a9c4a07054459_optim.pdf
https://manual.tools/?p=15550868#MTA0LjI4LjIwMi4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	MULTIBRACKETS M Pro Series Single Pole Floorbase Installation Guide
	MULTIBRACKETS M Pro Series Single Pole Floorbase
	Product Specifications
	Product Usage Instructions
	PARTS
	Product dimensions
	Installation
	WARRANTY CARD
	Frequently Asked Questions
	Documents / Resources
	References



